GHITACHI

303DH-47B2

1. #$¥& Specification
1.1 JE4&41 Compressor

E4EHELS Compressor Model

303DH-47B2

E4EH BT Compressor Type

2B B FEHEN Hermetic Motor Compressor

E4E#H A Compression Type

JABERN Scroll Type

{FH4 M Refrigerant

R22

HES A TE Displacement

47cm’/rev

SEESE / JHE 0il / 0il Charge

SUNISO 4GSD / 1200ml

HFIEE Painting

ZEf Black Color Paint

HES O M2 Discharge Accept |.D

SRE (&) Net Mass(Including 0il) 35kg
WSEEOMNTE Suction Accept I.D ©22. 2mm
D12. 9mm

1.2 H#l Motor

BEHER / #3175 Motor Type / Start Mode

RN B / BiE
3 Phase Induction Motor / Direct Start

RE Pole

21% 2 Pole

FAEBIE / 55% Rated Voltage / Frequency

3Ph - 220V-50Hz / 3Ph - 220V-60Hz

EATELEEEL Rated Revolution

2,920 [50Hz] / 3,470 [60Hz]

ISR Insulation Class

FZ F Class

Z2¢AfA$HT Winding Resistance (at 20°C)

1.186 7% Q

1.3 [%8E Performance

#1484 Capacity

8, 650W [50Hz] / 10, 300W [60Hz]

HIANINZE Motor Input

2,700W [50Hz] / 3,200W [60Hz]

BERLLL EER

3. 20W/W

JE{TH Running Current

8.21A [50Hz] / 9.5A [60Hz]

AL Locked Rotor Ampere

81A [50Hz] / 72A [60Hz]

& Sound Level

60dB (A) Max

#&xEN Vibration

15m/s’ Max.

X A EE SRS Test condition of cooling capacity:

AEGRE Condensing temp. : 54.4 C
E=;2E Return gas temp.: 18.3 C
BRI BIiRAEE Liquid temp. : 46.1°C

1.4 —f%4FMH  Characteristics

K A&iEE Evaporating temp.: 7.2 C
EIEIEE Ambient temp.: 35.0 C

SZiRIEE /1 Leak Tight Pressure

3.0MPa[SEM H.P. Sidel /1.5MPa[{KEM L.P. Side

it &KX 54& & 7 Hydrostatic Strength Pressure

4. 5MPa[&/EM H.P. Sidel /2. 3MPa[{K/EM L.P. Side

84 BH#T Insulation Resistance 10MQ Min.
LBEMIE Withstand Voltage 1, 500V-1min.
REIKSHE Residual Moisture 350mg Max.
&4 2 Residual Impurities 100mg Max.




GHITACHI

303DH-47B2

1.5 BSERMPHIE Electrical Component

% Parts Name

##& Specification

B2 Model 34HM155-14
HHFRIFE (WE) Run Wi FF:2E Open Temp. 155+5°C
Over load Protector F&i2E Close Temp. 61+9°C
(Internal) W FMEBRFIEME Amps To Trip 120°C 16. 6~20. 4A
HERTE4FME Time To Trip 65A 2~10s

2. [EZEWEM Accessories Of Compressor

NO. Z R Parts Name H=E Oty XS Drawing NO. #:* Remarks

1 T IEIEFE Bolt 4 TP1-101

2 | BA¥RBEEE: Rubber Grommet B 4 TP1-102

3 | BA#REZEE Rubber Grommet A 4 TP1-103 .

4 | % Washer 4 TP1-104 PR

Standard Parts

5 M6 2 M6 Screw Nut 4 GB41-86-M6

6 M8 #2E M8 Screw Nut 4 GB41-86-M8

7 SR Spring Washer 4 GB93-87-6

8 RIZES14ME Thermostat Holder 1 TP1-105 N
ey AR E

9 HESIE#888 Discharge Thermostat 1 TP1-106 Option Parts

10 | #HEE Crankcase Heater 1 TP1-110

3. {FHKMYEE Operating Conditions

#Z %8 Evaporating Temp.

-156~15C

HESEE Discharge Temp.

(&¥EEE +15C) ~120C AT
(Condensing Temp. +15°C) ~120°C Max.

R4ABTE Winding Temp.

120°CLAT Max.

EAEHINTIRE Shell Temp.

115°CLAT Max.

BEFEEE Running Voltage

FREM[E+10% Rated Voltage +10%

FHBEJE Start Up Voltage

BERER 8% L E(EMHENHFEEE) Minimum 85% of the

rated voltage measured at compressor terminals.

SNESEEl Frequency Range

FESNZE 2% Rated Frequency +2%

WSJES Suction Pressure

0.1~0.7MPa 2z, FRIEZEERTIE)IEEEFRSD; Except the short

period such as start, defrost)

HESJEH Discharge Pressure

1.1~2. 8MPa

FE 1Lk Pressure Ratio

2~7.5 @231, FREZEREIEEEFRIM; Except the short period

such as start, defrost)

EHRMENE

Pressure Difference At Starting

HESE D — ]S E 5 <0. 30MPa
D.P.-S.P. less than 0. 30MPa

BIEEHE On/0ff Period

BEEA 10 94d L, =iERFiEwg 3 o5l b

10 minutes min/cycle, OFF should be over 3 minutes

EBIR;HE Minimum Oil Charge

400m!| Min.

FREFE/EE

LEF:3.0MPa LA Rise:3.0MPa Max.

Abnormal Press. Rise/Drop

TB%:0.2MPa L L  Drop:0. 2MPa Min.

BEE RE) &h

B Ehit:50MPa LU Start:50MPa Max.

Copper Piping Stress

iBE5AT:10MPa LAY Run:10MPa Max.

RBKDEE

Refrigerant Moisture Level

60ppm LA™ Max.

RGERRREE

Solid Impurities Level

100mg LAY Max.

BEERFIAE Tilt In Operation

EHENHRIHERA 5 WA 5 deg. Max.

2




OHITACHI

303DH-47B2

X HMFEEI Remarks:

1. #I/4 &Yt The refrigeration system

D EEMELENES CHBHISE) FM7E 0.4 LLE;
The ratio of oil to theefrigerant (il/refrigerant) should be higherthan 0.4 in weight basis.

2) HERAFPEBNGFERSLEBRIFERA, MNRAMREEIRITE SRS EERIR:
When the compressor in the system has the liquid refrigerant flooding back operation, the
accumulator is required.

3) EEFHNFTHBCLER, BAMNHESMIET;
Charge oil or refrigerant from the discharge pipe.

4 RENRESEENFX, SEIREMEN 2.8+0. 1MPa.
Using high pressure switch in the refrigeration system is required, we advise setting pressure
as follow: 2.8+0. 1MPa,

2. [EHENEESRE. HISELER, BOME 10 58 E;

Instal lation shall be completed within 10 minutes after removing the caps oftsan and discharge

tube.

JIRNEHER;

Do not compress air.

4. EETKRETENBAE;

Do not energize under vacuumed condition.

5 RRAF L MEEFEHNREBR ZMANMET (40~80W, 220V) ;

Crankcase heater is required if the refrigeration system is heat pump.

6. TFERt, SHHERIBERENEEEBERN 3% UMA:

Voltage (run):Voltage deviation each phase shall be within 3% of the rated voltage.

1. BT R a ek

Do not reverse rotate.

8. [E4RH Bt BNk A 5H2 s RISt B %%

The compressor’ s ground should be connected with that of refrigeration system permanently and

firmly.

9. RFEEFGEN B MM ERELIRIR A 2 18, KEIREP 2R

Pile limits 2 pallet. Tumbling is forbidden during handling.

4. MiE Attachment

A-1 EZEHSMEZE Dimension of Compressor

A-2 BrRAZFESEHECE  Mounting Assembly

A-3 E4EHLIERER % 1 Compressor Performance Curve 1

A-4 JE4EHLIERER %k 2 Compressor Performance Curve 2

A-5 HEABSEIEE (=#H/E4H541) Basic Circuit Diagram (Three Phase Compressor)
A-6 HISBISsRHEZEE R ZEMHE Discharge Gas Thermostat Assembly Diagram

A-7 T ERIPEE U/T B2k  Overload Protector U/T Curve

A-8 T EIRIPEE S/T %k  Overload Protector S/T Curve

A-9 MR L IERE] Crankcase Heater Assembly



@HITACHI

303DH-47B2

239

BhET

Terminal

A1 EHEHSMEE Dimension of Compressor (303DH-47B2)

il

Name Plate

.
]

4017 REA
Mounting Hole

8.5

REE Suction Accept
(1.D822.25H12%4% Welded Connection)

HS% Discharge Accept
(1.D912.9$F12% 5 Welded Connection)

K8 Name Plate

HITACHI

REFRIGERATING COMPRESSOR

MODEL REFRIGERANT
MOTOR WEIGHT
POWER PRESSU?EST
SOURCE 20V 3~ 60Hz HIGH
OIL CHARGE r2L LOW
DATE XXXXXX
THERMALLY PROTECTED

303DH-4782
270KV 2P
20V 3~ 50Hz

@Hitachi Compressor Products (Guangzhou) Co., Ltd.

@

R-22
35 kg
HYDROSTATIC PNEUMATIC

4.5 MPa 3.0 MPa
2.3 MPa 1.5 MPa
X XXXXXX

TDE N CHTNA

BEETF Terminal

)
i 55

Bl AEHRMAGN
gﬂf Not Touch Compressor

E%EE Ground

93.21P2

6—C

M4—6G/6q

il




OHITACHI

303DH-47B2

A-2 PR ELE  Mounting Assembly

4|

BRNE 5
Rubber Grommet A

N\ 8

916 e

-

30
T 38
29 30
| ]
; \ N N
L;iJ %#M
- 929

XHEER Bolt
RIS 10—

) .
ﬁ\/ﬁ 47;} — '<9>
(\ 14 M6-8¢ ¢8

I
M8-8g
|

36.2 12—

HE Washer

027
96.6

-

Aﬁ—h—

v 2.2

BRERE
Rubber Grommet B

SR Bolt

MGAZEE M6 Screw Nut

BERE Spring Washer

HE Washer

THERL# Rubber Grommet B

[ESEHEEE Compressor Foot

FHER;EE Rubber Grommet A

ZBRIEE Unit Base

©w| | " || o || | —

NSHZ & M8 Screw Nut




OHITACHI

303DH-47B2
A-3 [E4EHIIEREM %K1 Compressor Performance Curve 1 (303DH-47B2)
BE Power Source 3Ph-220V-50Hz
#)4%] Refrigerant R22
RSFHE Suction Superheat 1.1 °C
A Subcooling 8.3 °C
32.2
48.9
=, W 65.6
w150 e
xS e
100 =T
4.0 65.6
_ 60.0
= 3.0 b4 4
port [ O O e e e e 48.9
Sy s B s O 43.3
®8 L0 e e s e e s s e e e e 378
32.2
1.0
3. I 65.6 s
] 60.0 &+
== = == 54.4 o= ¥
=8 b0 O i s s B e e 89 =g
53 T 1 ] = E —— 433 g8
7.0 === — 378 S
32.2
11600 <55
37.8
10440 43.3
48.9
9280 54 .4
60.0
8120 656
®g 6960
=S8
5800
4640
3480
—10% —5% 0% 59 10°C
EERE(C)
Evaporating Temp.




GHITACHI

ERRE(°C)
Evaporating Temp.

303DH-47B2
A-4 [RZEHIEREM 22 Compressor Performance Curve 2 (303DH-47B2)
BE  Power Source 3Ph-220Y-60Hz
#4%) Refrigerant R22
RETHME Suction Superheat 1.1 °C
T8 Subcool ing 8.3 °C
) 322
230 489
== = 65.6
2o 0 ————
g e
= 150 /: 1
65.6
= 4.0 60.0
E 1 54.4
- I O 48.9
2y 30 = ——— — 43.3
® = I e e e B e e e e e NS 37.8
2.0 ——— — 322
[ 65.6 .
i 60.0 .. &
10.0 s 54.4 ',
=¥ ——— & Et
=% L e I 3 mE g
i %.0 [ e s s s B B S 378 EE
302 TS
8.0
32.2
37.8
43.3
11600 48.9
54.4
10440 60.0
65.6
9280
w810
e
6960
5800
—107% —5% 0% 5% 10%




OHITACHI

303DH-47B2

A5 EABEREE (ZHEHEN)  Basic Circuit Diagram (Three Phase Compressor)

Lt L2 L3 N
T o o o OFF SW
T
X ON AR
pN
DT
PS (H) \o DTL PS(B)
J che
GMC \CZ:\\:Z
RS T TR
FRI' G C C RVR
RVR
€4 M
v CH
I W
CNC AR TR SV
[@;
KRS & iR & | KS & iR &
Code Parts Name Remarks | Code Parts Name Remarks
HERRE Close: 100C £15C
¥ N .
e FE45H Conpressor gl Discharge Gas Thermostat Open: 130C+6C
= AE ML
% T ; REMBEE REEN: 2 8MPa
GC | RAERE Nagnetic Gontactor *PS H) High Pressure Switch Set Pressure: 2.8MPa
N N HEBRAEHNALE Close: 2.5MPazx0. 1MPa
R | SRRSO t Rel * et =
HAGAERE Overcurrent Relay PS0) Pressure Switch For Liquid Bypass |Open: 2. 1MPaz0.15HPa
TEEE A
VR | 4R Reversing Valve Relay *SY B Solenoid Valve ‘ﬁﬁé'_"?‘ﬂﬁﬁ o
For Cooling Of Liquid Bypass
N EBREES Close: 110C+6°C
#0 R Switeh T Gas Thermoswitch For Liquid Bypass |Open: 70°C+7.5C
e M— WRERE: 35
8] 2%
*R | DT Auxiliary Relay *R R4k 2R Timer Set Tine: 3 minutes
*CH | #iH3 0il Heater

I Y WERGERR B

Note: All the parts marks “*” should prepared by customer .




GHITACHI

303DH-47B2

A-6 HSBERAERRFME Discharge Gas Thermostat Assembly Diagram

F5 & & it
No. Parts Name Remarks
1 HSRES DT, Open: 130£6°C; Close: 100£15T

2 | RIZEER D.T. Hold

3 JE48H Compressor

HSERH DT,

e T3
10
300420 34+2 | 106
BREER D.T. Hold
e
¢
™M
: YNE [T Ja
A H H




G@HITACHI

303DH-47B2

A-7

TERIPZE U/T % Overload Protector U/T Curve

34HM MOTOR PROTECTOR
ULTIMATE TRIP CURVES

Ultimate Trip Current V5. Protector Ambient Temperature (Approximate).

100

&0

To Be Used Only For Selecting Samples For Motor Verification Test

40

I 30

—(34HM (3-Phase) (070 ohm disc. -12 disc heater, -12 pin heater)

29

28

27

26

25

2

23

—=
=)

—
]

—=
@

=i
I

==
)

-
=)

o
ULTIMATE TRIP CURRENT {Amps)

-y
—y

-
=

100

TEXAS INSTRUMENTS INCORPORATED

80

B0
DELTAT(°C})

LAST REVISION: 6/9/2004

a0 40 30 20
Valbds 1licurvesiaceess\curves_compare_mullipls_temp_points_34HK xis

ATTLEBCRO, MASSACHUSETTS USA.



G@HITACHI

303DH-47B2
A-8 T H{RIP2E S/THZ Overload Protector S/T Curve
34HM MOTOR PROTECTOR
SHORT TIME CURVES
Average First Cycle Tripping Time V3. Current In 25 °C Ambient (Approximate).
To Be Used Only For Selecting Samples For Motor Verification Test.
15 14 13 12 1" 10 9 8 7 6 5 4 3 2 1 0
I T T O A A A O A 100
S N N N N N N N N N I N N N N N N N A I
N N N N N N A v o
E —34HM155 (C1-C3) (070 ohm disc, -12 disc heater, -12 pin heater) x 155°C Cpen Temp i
E ==34HM155 (C1-C2) (070 ohm disc, -12 disc heater, -12 pin heater) x 155°C Open Temp
- F AR %0
H o 34HM155 (3-Phase] (070 ohm disc, -12 disc heater, -12 pin heater) x 155°C Open Temp
Fi
i
/i
" — ]
y
.
. F.
- il o~
ot Tl F
il
il
- 70
- 1
il ail il
- "
pue et %
o <
=
&
= 3
= i
|
=
= 0 E
2
o
44
ki
N
10
0
TRIPPING TIME (Seconds) iaibds 1 vicurves\acoesslcurves_compare_multiple_temp_poinls_34HMxis
TEXAS INSTRUMENTS INCORFORATED LAST REVISION: 6/9/2004 ATTLEBORD, MASSACHUSETTS USA.



GHITACHI

W#E Spring

1200

303DH-47B2
A-9 #ihERacE Crankcase Heater Assembly
/\_/ L
1 3
*\ )
C ache g
\ |
rrUE )LU )
e LA %
No. Parts Name Remarks
1 Hh4s Crankcase Heater 220V, 400
2 HE Spring
3 JE4HL Compressor
Hli# Crankcase Heater
j’:‘ ‘gﬁ | I=EaE






